15% September 2021
Look at the figure and fill in the blanks.

1)

a) The rectangle is divided into equal parts.
b) are shaded. The fraction is
c) are unshaded. The fraction is
d) and make 1 whole.
2)
a) The rectangle is divided into equal parts.
b) are shaded. The fraction is
c) are unshaded. The fraction is
d) and make 1 whole.
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3) A chocolate bar has 10 equal parts. Rashid eats 6 parts.

a) _  parts are left.

b) The fraction of the chocolate eaten by Rashid is

c) The fraction of the chocolate left is

d) and make 1 whole.
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